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Bachelor of Arts (B.A.) Third Semester Examination

ECONOMICS (Macro Economics Theory—I)

(Optional)

Time : Three Hours]  [Maximum Marks : 80

N.B. :— (1) Attempt ALL questions.

(2) All questions carry equal marks.

(3) Draw neat diagrams wherever necessary.

1. (a) Define inflation and deflation of Money. Suggest the remedies to control inflation.

OR

(b) Explain the objectives of Monetary Policy.

(c) Explain the instruments of Fiscal Policy.

2. (a) What is meant by Macro Economics ? Explain its importance and limitations.

OR

(b) Explain the difference between Micro and Macro Economics.

(c) Explain the three-sector model of circular flow.

3. Answer the following questions in short (any four) :

(a) Write the assumption of Say’s Law of Market.

(b) What is Effective Demand ?

(c) State the importance of Propensity to Consume.

(d) State the Leakage of Multiplier.

(e) What are marginal efficiency of Capital ?

(f) Write the assumptions of Keyne’s general theory of Employment.

4. Answer the following questions in short (any four) :

(a) Write notes on Gross National Product (GNP) and Gross Domestic Product (GDP).

(b) How determine the Per Capita Income ?

(c) State the difficulties in measuring National Income.

(d) Write a note on Consumption Goods.

(e) Explain the Income method of measuring National Income.

(f) Write a note on — Net Domestic Product.
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5. Choose correct option for the following multiple choice objective questions (All compulsory) :

(i) With help of which economics the nature of economy understood :

(a) Macro Economics (b) Keynes Economics

(c) Micro Economics (d) None of these

(ii) Which of the following included in two-sector model in circular flow ?

(a) Household and Industrial Sector (b) Government and Industrial Sector

(c) Household and Govt. Sector (d) None of these

(iii) Which of the following is not a method of estimating national income ?

(a) Expenditure method (b) Matrix method

(c) Income method (d) Output method

(iv) Subsidies are payment by Government to _______.

(a) State Govt. (b) Central Govt.

(c) World (d) Household

(v) Store of value comes under which function of money ?

(a) Primary (b) Contingent

(c) Secondary (d) All the above

(vi) What is the relation between price level and value of money ?

(a) Inverse (b) Equal

(c) Proportional (d) None of these

(vii) On which demand, “The Keynes General Theory of Employment” is based on :

(a) Composite Demand (b) Individual Demand

(c) Effective Demand (d) None of these

(viii) The investment done by private institution is _______.

(a) Autonomous Investment (b) Induced Investment

(c) Public Investment (d) None of these
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¼ejkBh ekè;e½
1. (v) eqnzkfLQrh o eqnzkvfLQrhph O;k[;k |k- eqnzkfLQrhP;k fu;a=.kkFkZ mik; lqpok-

fdaok

(c) ekSnzhd /kksj.kkph mfí"Vîs Li"V djk-

(d) jktdks"kh; /kksj.kkph lk/kus Li"V djk-

2. (v) LFkwy vFkZ’kkL= Eg.kts dk; \ R;kps egRo o e;kZnk lkaxk-

fdaok

(c) lw{e vFkZ’kkL= vkf.k LFkwy vFkZ’kkL= ;krhy Qjd Li"V djk-

(d) pØkdkj izokgkps f={ks=h; izfreku Li"V djk-

3. [kkyhy iz’ukaph laf{kIr mÙkjs |k ¼dks.krsgh pkj½ %

(v) ^ls* pk cktkj fu;ekph x‘ghrs fygk-

(c) izHkkoh ekx.kh Eg.kts dk; \

(d) miHkksx izo‘Ùkhps egRo lkaxk-

(M) xq.kdkP;k xGR;k lkaxk-

(b) HkkaMoykph lhekar ykHk{kerk Eg.kts dk; \

(Q) dsUlP;k lkekU; jkstxkjhP;k fl)karkph x‘ghrs fygk-

4. [kkyhy iz’ukaph laf{kIr mÙkjs |k ¼dks.krsgh pkj½ %

(v) ^LFkwy jk"Vªh; mRiUu* vkf.k ^ldy ?kjxqrh mRiUu* ;koj Vhi fygk-

(c) njMksbZ mRiUukps fu/kkZj.k dls dsys tkrs \

(d) jk"Vªh; mRiUu ekiukrhy vMp.kh lkaxk-

(M) ^miHkksX; oLrw* oj Vhi fygk-

(b) jk"Vªh; mRiUu ekiukph mRiUu i)rh Li"V djk-

(Q) ^fuOoG ?kjxqrh mRikn* ;koj Vhi fygk-
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5. [kkyhy cgqi;kZ;h oLrwfu"B iz’ukaps ;ksX; i;kZ; fuoMk ¼loZ vfuok; Z½ %

(i) dks.kR;k vFkZ’kkL=kP;k lgk¸;kus laiw.kZ vFkZO;oLFksps Lo:i letw ’kdrs \

(v) LFkwy vFkZ’kkL= (c) dsUlps vFkZ’kkL=

(d) lw{e vFkZ’kkL= (M) ;kiSdh ukgh

(ii) pØkdkj izokgkr [kkyhyiSdh f}{ks=h; izfrekukr d’kkpk lekos’k gksrks \

(v) ?kjsyw o m|ksx {ks= (c) ljdkj o m|ksx {ks=

(d) ?kjsyw {ks= o ljdkj (M) ;kiSdh ukgh

(iii) jk"Vªh; mRiUu vuqekfur dj.;kph [kkyhyiSdh dks.krh i)r ukgh \

(v) [kpZ i)r (c) lap i)r

(d) mRiUu i)r (M) mRiknu i)r

(iv) ljdkj}kjs vuqnkukps ’kks/ku dks.kkyk dj.;kr ;srs \

(v) jkT; ljdkj (c) dsanz ljdkj

(d) txkyk (M) dqaVqackyk

(v) ewY; laxzg.k gs eqnszps dks.krs dk;Z vkgs \

(v) izkFkfed (c) vkdfLed

(d) nq¸;e (M) ojhy loZ

(vi) eqnzsps ewY; o fdaer ikrGh gîkapk laca/k dlk vlrks \

(v) O;Lr (c) le

(d) izek.k’khj (M) ;kiSdh ukgh

(vii) dsUlpk lkekU; jkstxkj fl)kar dks.kR;k ekx.khoj voyacwu vkgs \

(v) la;qDr ekx.kh (c) oS;fDrd ekx.kh

(d) izHkkoh ekx.kh (M) ;kiSdh ukgh

(viii) [kktxh laLFks}kjs dsyh tk.kkjh xqaro.kwd Eg.kts _______.

(v) Lok;Ùk xqaro.kwd (c) izsfjr xqaro.kwd

(d) lkoZtfud xqaro.kwd (M) ;kiSdh ukgh



CC—11889 5 (Contd.)

AHK/KW/19/4465

Bachelor of Arts (B.A.) Third Semester Examination

ECONOMICS (Macro Economics Theory—I)

(Optional)

Time : Three Hours]  [Maximum Marks : 80

N.B. :— (1) Attempt ALL questions.

(2) All questions carry equal marks.

(3) Draw neat diagrams wherever necessary.

¼fgUnh ekè;e½
1. (v) eqnzkLQhfr ,oa vLQhfr dh ifjHkk"kk nhft;sA eqnzkLQhfr ds fu;a=.kkFkZ lq>ko nhft;sA

vFkok

(c) ekSfnzd uhfr ds mís’; Li"V dhft;sA

(d) jktdks"kh; uhfr ds lk/ku Li"V dhft;sA

2. (v) lef"V vFkZ’kkL= D;k gS \ mldk egRo ,oa e;kZnk,a crkb;sA

vFkok

(c) lw{e vFkZ’kkL= ,oa lef"V vFkZ’kkL= esa varj Li"V dhft;sA

(d) pØh; izokg dk f=&{ks=h; izfreku Li"V dhft;sA

3. fuEu iz’uksa ds mÙkj la{ksi esa nhft;s ¼dksbZ Hkh pkj½ %

(v) ^ls* ds cktkj fu;e dh ekU;rk,a fyf[k;sA

(c) izHkkoh ekax D;k gS \

(d) miHkksx izo‘fÙk dk egRo crkb;sA

(M) xq.kd ds fjlko (Leakages) crkb;sA

(b) iw¡th dh lhekar ykHk{kerk D;k gS \

(Q) fdUl ds lkekU; jkstxkj fl)kar dh ekU;rk,a fyf[k;sA

4. fuEu iz’uksa ds mÙkj la{ksi esa nhft;s ¼dksbZ Hkh pkj½ %

(v) ^LFkwy jk"Vªh; vk;* ,oa ^ldy ?kjsyw vk;* ij fVIi.kh fyf[k;sA

(c) izfrO;fDr vk; dk fu/kkZj.k dSls fd;k tkrk gS \

(d) jk"Vªh; vk; ds ekiu esa vkus okyh ck/kk,a crkb;sA

(M) ^miHkksX; oLrq* ij fVIi.kh fyf[k;sA

(b) jk"Vªh; vk; ekiu dh vk; fof/k Li"V dhft;sA

(Q) ^’kq) ?kjsyw mRikn* ij fVIi.kh fyf[k;sA
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5. fuEu cgqfodYih oLrqfu"B iz’uksa ds ;ksX; i;kZ; dk p;u dhft;s ¼lHkh vfuok;Z½ %

(i) dkSuls vFkZ’kkL= ds lgk;rk ls dqy vFkZO;oLFkk Lo:i Kkr gksrk gS \

(v) lef"V vFkZ’kkL= (c) fdUl dk vFkZ’kkL=

(d) lw{e vFkZ’kkL= (M) buesa ls ugha

(ii) pØh; izokg esa fuEu esa ls f}&{ks=h; izfreku esa fdldk lekos’k gksrk gS \

(v) ?kjsyw {ks= ,oa m|ksx (c) ljdkj ,oa m|ksx

(d) ?kjsyw {ks= ,oa ljdkj (M) buesa ls ugha

(iii) jk"Vªh; vk; dh x.kuk djus dh fuEu esa ls dkSulh fof/k ugha gS \

(v) O;; fof/k (c) lap fof/k

(d) vk; i)r (M) mRikn fof/k

(iv) ljdkj }kjk vuqnku Hkqxrku fdls fd;k tkrk gS \

(v) jkT; ljdkj (c) dsanz ljdkj

(d) tx (M) ifjokj

(v) ewY; laxzg ;g eqnzk dk dkSulk dk;Z gS \

(v) izkFkfed (c) vkdfLed

(d) nq¸;e (M) mijksDr lHkh

(vi) eqnzk dk ewY; ,oa dher Lrj budk laca/k dSlk gksrk gS \

(v) foijhr (c) le

(d) vkuqikfrd (M) buesa ls ugha

(vii) fdUl dk lkekU; jkstxkj fl)kar dkSuls ekax ij fuHkZj gS \

(v) la;qDr ekax (c) O;fDrxr ekax

(d) izHkkoh ekax (M) buesa ls ugha

(viii) futh laLFkk }kjk fd;k tkus okyk fuos’k _______ gSA

(v) Lok;Ùk fuos’k (c) izsfjr fuos’k

(d) lkoZtfud fuos’k (M) buesa ls ugha


